Review Package #1

1) Wirite the chemical formulae resulting from the combination of the following ions.

a) Na* oz Nay O c) S+ Br- SeBr

b) AU s> A, S N d) Pb#+ C204> Phié Q()L

2) Write the correct name for each of the following ionic compounds.
a) Li20 L\“}\‘vm A‘H-\X\AG— c) MgaN2 Mﬂf}"cskiuw\ N‘-‘}Tigc_

(Nl ot heomivm (L Phacp -
b) CoCls (ola\r ’ﬂL}(, Lort e d) Crs(PO4)s _(prcomiem (I, Prap -

3) Write the correct formula for each of the following ionic compounds.

a} Cesium iodide C ,{jl d} Aluminum oxide A LZ Og
b) Strontium cyanide S r(CT\))Z e) Iron () hydroxide EelOH 23
c) Copper (!} bicarbonate CgA HCO; f)  Potassium permanganate k MV\D”

4) Write the comrect name for each of the followmg ionic hydrates.
a) Cd(NO3)2 Codniun Nt

b) NaSCN Sodivm Thisconele

Molecular Compounds:
1. Write the comrect name for each of the following molecular compounds.

a. NFs3 N ?’ko:\)c.f\ /\r‘rr\uOr:Ac, d. N204 0‘.,\(‘\“02?\ ,T(.'lmo-a(ég
b. CO2 Car \Oa,\ Blgx\‘&c, e. SClg ‘Su\‘p\/‘w‘ chngi«iur‘\c\g
c. P20s Qiekosp\\or“/ PM*AO*\‘?\‘L f. N2O 7 ‘Qm'.'\«os,\ r\of\o\!{t?\&—

2. Write the cormrect formula for each of the following molecular compounds

a. Silicon disulphide S ,S; d. Triarsenic pentabromide ASZ B g
b. Carbon tetrachloride cely, e. Dicarbon hexahydride Cs H
c. Oxygen gas 02 f. lodine heptachloride Tl 4

Mixed Naming:
3.Write the cormrect formula for each of the following molecular compounds:

Cl) COBI’L—;~a Cc‘xc,(v*"\ ’K(QM\A "

b) H2S04 OL é(u%r\ S\\DL\&*(/ (ﬁu\\o‘/\urz(_, L’C.’c.’?
)

c) Il Taj)\/\c/ Y\OAncLl»rfc\c

d) Cu(NO3): Coppec ) Nikale



The Mole:

Make the following conversions, clearly showing your steps. Include proper units in all of your work
and in your answer.

a) 13344 grams of PCls = 2moles MM Pcle = ZOB'SJ/MD {

Peoles Pelg - ¥Tuk Pel Lol
2 68.Sq

o k00 pols

Answer O-G‘TOOMo‘S’

b) 0.00256 mol f Li2CroO7 = ¢ s . =
) moles of Li2Cr207 gram M L Cr 07 7_’20\.8%3/,“,(

3?1"1 qu— O.002 5K hJé >~ 716\&?9 Ogg%

Ao\
\ o Answer 0.5868
NS
c) 170.24 L of NOz at STP = 2 moles | o l= 22 4L
P agles o, = 11020l %t g e N0y
' 22 4L LOmyt o
Answer 1 2 7

d) 570.625 g of PClz gas = 2 L (STP) Moos 13T S\S/

PL 5106153()(/\3% Vo | « 2’_2__119—’ - G\’Lc\éL: ql.0L
\2—\§3 L mad

Answer Q—SO L

e)1030.4mLof CiHsgas atSTP=2g  paAm = 30.03 /Mo\

\oooM‘/ 22 4L .
Answer . 3&:\)
f) 5.00 kg of nitrogen gas = ¢ L (STP)
- Nz = Lgoé lMDS
L Sookax [v9n  lmo) 22ML 2
? L N, NI + /_,——3 o) Answer L('_Oox((@:)

1\53 13:%)*



Q) 0.5696kg of CHug = 2mL MM = |6 0o [,
[

Pl (o = 0 Cebkaw 10004 imel  22LL  (oesal

—_— L

~
1 5 \L-Ub | ol

S
Answer 7 A ML

2. The density of liquid ethanol (CszOH) is 0.790 g/mL. Calculate the number of
molecules in a 35.0 mL sample of liquid ethanol. ([NOTE: You CAN'T use 22.4 L/mol since this is NOT a
gas at STP!) MM = Lt(”ob/"wl

- 23 ~
?N\arw\c—s CZHJOH - RSOmL » Oﬂ‘lOi . \ <0 \ - C,O\’),v\(\:) o \PP . %,6’2,\4(01 e
Mmoo Wb o 2
%Amwer 3. é?}‘MD(L No\cc/

3. A 100.0 mL sample of liquid mercury contains 6.78 moles. Calculate the density of liquid
mercury from this data. M = 200 Sﬂj l«a (
Prols My = 6T8mols o ARG
- £0 0w
- L7 7 = = | 24%(D / Answer | 34«1 C\/L
0.1000 L et St ~
4, Cdlculate the density of PClag) at STP.

Mh = 137.Gey e |
\ ro
P hieutye iy el

red | 22 4L

Answer 6“'( &;/L
9

S. a) The density of a gas at STP is 4.955 g/L. Calculate the molar mass of this gas.
TMN = hkAagSe 224l _ gy /,
“ L \ MJ \ \Cj
b) The gas is an oxide of selenium. Determine the molecular formula.

VS + 20 — Se0,

11.0 S2.0 — \\\j Answer &Gb




6. Find the percent composition (% by mass of each element) in the following compound:
Sr3{PO4)2. Show your work. _
(POu)z. Showy MM =4S Gy |

4 c = .
/hg %\g E/M \L\oo"/.; Sgloa/s

7P - __:)l___ 2tk

/o0 = n&%hd
G 8

7. A compound W%s onolyzed and the following results were obtained:
Molar mass: 270.4 g/mol

o (o2 M (o] &' (o]
= 9% 32°/ Answer <&80%Sr, 3. F %P, 28 3%0

Mass of sample: 162.24 g k_go
Mass of potassium: 46.92 g

Mass of sulphur: 38.52 g
Mass of oxygen: the remainder of the sample is oxygen

Q) Determine the mass of oxygen in the sample.

Answer /l 6. 8 “
-

b) Determine the empirical formula for this compound.
?Ma\é) = /l’é 83‘/‘ /——\,\:Q‘ - L('.%’/‘\»\ ) L—\
16 S J
Prlkz Waz+ 1wl 2wl § )
' A
SN T X< XML Y. A ¥ P 3
' DU
Answer: Empirical Formulc: k SO._‘
MMz 1. \
c) Determine the molecular ormu a for this compound.

{“O\CCw\O\f {"\k_g{( ’),’\O,L(\S/MDK - 5

C /n Fﬁ((;c ‘(/7 Mesd
Answer: Molecular Formula: k’) 52@ &




8. 123.11 g of zinc nitrate, Zn{NOs)2 are dissolved in enough water to form 650.0 mL of
solution. Calculate the [Zn{NOs)2]) Include proper units in your work and in your answers.

MM = 1433%5 (o |

~ _.
P s ZalNO), o 230, A

_ O. 1V H Wyrs\ ¢
\6S ‘—63

C = /—Tj - O HUum'c

VTS M
O 6800 |
Answer \ H(S n

9. Calculate the mass of potassium sulphite (K2SO3) needed to make 800.0 mL of a
0.200 M solution of K2SQOs. Include proper units in your work and in your answers.

MM = S8 e [as)

?5\(1_%5 = 0.s000L , 07200m>l| L 1S83g 1<
L oy =S

Answer 2S. 2 S
-

10. What volume of 2.50 M Li2CO3 would need to be evaporated in order to obtain 47.232
g of solid Li2COs32 Include proper units in your work and in your answers.

b= 7384 |
?L L‘§Oi = L(‘t,’ZK’L:yL ,\ﬁ‘_l-L ~’\/—\'£' , = okl
736y S0k g

Answer o 254 <

11. 150.0 mL of water are added to 400.0 mL of 0.45 M HNO3 . Calculate the final [HNOs].
Include proper units in your work and in your answers.

C = O 4T M\
! Cl - C, -—\{-l-
\J,= 420.0~L- )
- oD .Om L
V, = ¢So an L = OkgMm . TP T 036M

§SoombL
Cz = ;_) Answer O . 3¢M




12. What volume of water needs to be added o 150.0 mL of 4.00 M H2SO« in order to bring
the concentration down to 2.50 M2 Include proper units in your work and in your answers.

\}\ = \$o0.0am [ Cl
C, = koM \, = Vi —
Ve ke C,
C?, =7} goh
L. oo M1\
\)7,’P \/L’ \So0.0m | - = - ko ml
- 2.50M
added 40sL
Answer A0,0m Lo
13. Give directions on how to make 5.00 L of 0.020 M Ca(CIO)2 using solid Ca(ClO}2 and

water. Include proper units in your work and in your answers.
N
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